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 4من  1الصفحة 
 

 
 

 

 

 

 

1

∫ 𝑥𝑐𝑜𝑠 𝑥 𝑑𝑥

∫ 𝑢𝑑𝑣 = 𝑢𝑣 − ∫ 𝑣𝑑𝑢                                               𝑢 = 𝑥                     𝑑𝑣 = cos 𝑥 𝑑𝑥 

∫ 𝑥𝑐𝑜𝑠 𝑥 𝑑𝑥 = 𝑥𝑠𝑖𝑛 𝑥 − ∫ sin 𝑥 𝑑𝑥                      𝑑𝑢 = 𝑑𝑥                  𝑣 = sin 𝑥

                      = 𝑥𝑠𝑖𝑛 𝑥 + cos 𝑥 + 𝐶

2

a      ∫(𝑥 − 3)𝑒𝑥−3 𝑑𝑥 

∫ 𝑢𝑑𝑣 = 𝑢𝑣 − ∫ 𝑣𝑑𝑢                                                       𝑢 = 𝑥 − 3                     𝑑𝑣 = 𝑒𝑥−3𝑑𝑥 

∫(𝑥 − 3)𝑒𝑥−3 𝑑𝑥 = (𝑥 − 3)𝑒𝑥−3 − ∫ 𝑒𝑥−3𝑑𝑥             𝑑𝑢 = 𝑑𝑥                       𝑣 = 𝑒𝑥−3

                                  = (𝑥 − 3)𝑒𝑥−3 − 𝑒𝑥−3 + 𝐶 = (𝑥 − 4)𝑒𝑥−3 + 𝐶 

b      ∫ 4𝑥𝑒−5𝑥 𝑑𝑥

∫ 𝑢𝑑𝑣 = 𝑢𝑣 − ∫ 𝑣𝑑𝑢                                                          𝑢 = 4𝑥                     𝑑𝑣 = 𝑒−5𝑥𝑑𝑥 

∫ 4𝑥𝑒−5𝑥 𝑑𝑥 = 4𝑥 (−
1

5
𝑒−5𝑥) − ∫ −

4

5
𝑒−5𝑥𝑑𝑥           𝑑𝑢 = 4𝑑𝑥              𝑣 = −

1

5
𝑒−5𝑥

                                  

= −
4

5
𝑥 𝑒−5𝑥 −

4

25
𝑒−5𝑥 + 𝐶
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 4من  2الصفحة 
 

3

    ∫ ln 𝑥  𝑑𝑥 

∫ 𝑢𝑑𝑣 = 𝑢𝑣 − ∫ 𝑣𝑑𝑢                                               𝑢 = ln 𝑥                      𝑑𝑣 = 𝑑𝑥 

∫ ln 𝑥  𝑑𝑥 = 𝑥 𝑙𝑛 𝑥 − ∫ 𝑥.
1

𝑥
𝑑𝑥                             𝑑𝑢 =

1

𝑥
𝑑𝑥                  𝑣 = 𝑥

                  = 𝑥 𝑙𝑛 𝑥 − ∫ 𝑑𝑥 = 𝑥 𝑙𝑛 (𝑥) − 𝑥 + 𝐶

4

    ∫ (𝑥 + 1)ln(𝑥 + 1)  𝑑𝑥 

∫ 𝑢𝑑𝑣 = 𝑢𝑣 − ∫ 𝑣𝑑𝑢                                        𝑢 = ln(𝑥 + 1)           𝑑𝑣 = (𝑥 + 1)𝑑𝑥 

                                                                                   𝑑𝑢 =
1

𝑥 + 1
𝑑𝑥              𝑣 =

1

2
𝑥2 + 𝑥

  ∫(𝑥 + 1) ln(𝑥 + 1)  𝑑𝑥 = (
1

2
𝑥2 + 𝑥)  𝑙𝑛 (𝑥 + 1) − ∫

𝑥2 + 2𝑥

2
.

1

𝑥 + 1
𝑑𝑥 

  = (
1

2
𝑥2 + 𝑥)  𝑙𝑛 (𝑥 + 1) − ∫

𝑥2 + 2𝑥

2𝑥 + 2
𝑑𝑥 

  = (
1

2
𝑥2 + 𝑥)  𝑙𝑛 (𝑥 + 1) − ∫ (

1

2
𝑥 +

1

2
−

1

2𝑥 + 2
) 𝑑𝑥

  = (
1

2
𝑥2 + 𝑥)  𝑙𝑛 (𝑥 + 1) −

1

4
𝑥2 −

1

2
𝑥 +

1

2
ln(𝑥 + 1) + 𝐶 
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 4من  3الصفحة 
 

5

    ∫ 𝑥2 sin 𝑥  𝑑𝑥 

∫ 𝑢𝑑𝑣 = 𝑢𝑣 − ∫ 𝑣𝑑𝑢                                                    𝑢 = 𝑥2                     𝑑𝑣 = sin 𝑥 𝑑𝑥 

∫ 𝑥2 sin 𝑥  𝑑𝑥 = −𝑥2 cos 𝑥 + ∫ 2𝑥𝑐𝑜𝑠 𝑥 𝑑𝑥             𝑑𝑢 = 2𝑥𝑑𝑥                  𝑣 = −𝑐𝑜𝑠𝑥

 ∫ 2𝑥𝑐𝑜𝑠 𝑥 𝑑𝑥 = 2𝑥𝑠𝑖𝑛 𝑥 − ∫ 2 sin 𝑥 𝑑𝑥                𝑢 = 2𝑥                     𝑑𝑣 = cos 𝑥 𝑑𝑥 

                            = 2𝑥𝑠𝑖𝑛 𝑥 + 2𝑐𝑜𝑠 𝑥 + 𝐶                    𝑑𝑢 = 2 𝑑𝑥                𝑣 = sin 𝑥 

      

∴ ∫ 𝑥2 sin 𝑥  𝑑𝑥 = −𝑥2 cos 𝑥 + 2𝑥 𝑠𝑖𝑛 𝑥 + 2 cos 𝑥 + 𝐶            

6

    ∫ 𝑥2 𝑒𝑥+2 𝑑𝑥 

  ∫ 𝑢𝑑𝑣 = 𝑢𝑣 − ∫ 𝑣𝑑𝑢                                                    𝑢 = 𝑥2                     𝑑𝑣 = 𝑒𝑥+2𝑑𝑥 

 ∫ 𝑥2𝑒𝑥+2 𝑑𝑥 = 𝑥2𝑒𝑥+2 − ∫ 2𝑥𝑒𝑥+2 𝑑𝑥                     𝑑𝑢 = 2𝑥𝑑𝑥                  𝑣 = 𝑒𝑥+2

 ∫ 2𝑥𝑒𝑥+2 𝑑𝑥 = 2𝑥𝑒𝑥+2  − ∫ 2𝑒𝑥+2𝑑𝑥                    𝑢 = 2𝑥                     𝑑𝑣 = 𝑒𝑥+2𝑑𝑥 

                            = 2𝑥𝑒𝑥+2 − 2𝑒𝑥+2 + 𝐶                     𝑑𝑢 = 2 𝑑𝑥                𝑣 = 𝑒𝑥+2 

      

∴ ∫ 𝑥2𝑒𝑥+2 𝑑𝑥 = 𝑥2𝑒𝑥+2 − 2𝑥 𝑒𝑥+2 + 2 𝑒𝑥+2 +𝐶            
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 4من  4الصفحة 
 

7

    ∫  𝑒𝑥 cos 𝑥  𝑑𝑥 

  ∫ 𝑢𝑑𝑣 = 𝑢𝑣 − ∫ 𝑣𝑑𝑢                                                    𝑢 = 𝑒𝑥                   𝑑𝑣 = cos 𝑥 𝑑𝑥 

 ∫ 𝑒𝑥 cos 𝑥  𝑑𝑥 = 𝑒𝑥 sin 𝑥 − ∫ 𝑒𝑥 sin 𝑥 𝑑𝑥                 𝑑𝑢 = 𝑒𝑥𝑑𝑥                  𝑣 = sin 𝑥

 ∫ 𝑒𝑥 sin 𝑥  𝑑𝑥 = −𝑒𝑥 cos 𝑥 + ∫ 𝑒𝑥 cos 𝑥 𝑑𝑥            𝑢 = 𝑒𝑥                     𝑑𝑣 = sin 𝑥 𝑑𝑥 

                                                                                           𝑑𝑢 = 𝑒𝑥 𝑑𝑥                𝑣 = − cos 𝑥 

      

∴ ∫ 𝑒𝑥 cos 𝑥  𝑑𝑥 = 𝑒𝑥 sin 𝑥 − ∫ 𝑒𝑥 sin 𝑥 𝑑𝑥             

                            

                                   = 𝑒𝑥 sin 𝑥 +𝑒𝑥 cos 𝑥 − ∫ 𝑒𝑥 cos 𝑥 𝑑𝑥

∴ 2 ∫ 𝑒𝑥 cos 𝑥  𝑑𝑥 = 𝑒𝑥(sin 𝑥 + cos 𝑥) + 𝐶

∴ ∫ 𝑒𝑥 cos 𝑥  𝑑𝑥 =
1

2
𝑒𝑥(sin 𝑥 + cos 𝑥) + 𝐶

 انتهت حلول حاول أن تحل 

 التكامل بالتجزئ  :5-5البند 
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 8من  1الصفحة 
 

  

 

 

 

1𝑓𝑓(𝑥) =
2𝑥−1

𝑥2−4𝑥+3

a  b∫ 𝑓(𝑥)𝑑𝑥

   a                 
2𝑥 − 1

𝑥2 − 4𝑥 + 3
=

2𝑥 − 1

(𝑥 − 3)(𝑥 − 1)
=

𝐴1

𝑥 − 3
+

𝐴2

𝑥 − 1
 

(𝑥 − 3)(𝑥 − 1) 𝑥3 𝑥1 

2𝑥 − 1 = 𝐴1(𝑥 − 1) + 𝐴2(𝑥 − 3) 
 

2(3) − 1 = 𝐴1(3 − 1) ⟹ 𝐴1 =
5

2
 

2(1) − 1 = 𝐴2(1 − 3) ⟹ 𝐴2 =
−1

2
 

𝐴1 , 𝐴2 

2𝑥 − 1

𝑥2 − 4𝑥 + 3
=

5
2

𝑥 − 3
+

−1
2

𝑥 − 1
 

     𝑏           ∫ 𝑓(𝑥) 𝑑𝑥 = ∫ (

5
2

𝑥 − 3
−

1
2

𝑥 − 1
) 𝑑𝑥 

             = ∫

5
2

𝑥 − 3
𝑑𝑥 − ∫

1
2

𝑥 − 1
𝑑𝑥 =

5

2
∫

1

𝑥 − 3
𝑑𝑥 −

1

2
∫

1

𝑥 − 1
𝑑𝑥 

=
5

2
ln|𝑥 − 3| −

1

2
ln|𝑥 − 1| + 𝐶 
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 8من  2الصفحة 
 

2

∫
𝑥2 − 2

2𝑥3 − 5𝑥2 − 3𝑥
𝑑𝑥     ∶  

2𝑥3 − 5𝑥2 − 3𝑥 = 𝑥(2𝑥2 − 5𝑥 − 3) = 𝑥(2𝑥 + 1)(𝑥 − 3) 

𝑥2 − 2

2𝑥3 − 5𝑥2 − 3𝑥
=

𝑥2 − 2

𝑥(2𝑥 + 1)(𝑥 − 3)
=

𝐴1

𝑥
+

𝐴2

2𝑥 + 1
+

𝐴3

𝑥 − 3
 

𝑥(2𝑥 + 1)(𝑥 − 3) 𝑥0 𝑥
−1

2

𝑥3

𝑥2 − 2 = 𝐴1(2𝑥 + 1)(𝑥 − 3) + 𝐴2𝑥(𝑥 − 3) + 𝐴3𝑥(2𝑥 + 1) 

 

(0)2 − 2 = 𝐴1(2(0) + 1)((0) − 3) ⟹ 𝐴1 =
2

3
 

(
−1

2
)

2

− 2 = 𝐴2 (
−1

2
) (

−1

2
− 3) ⟹ 𝐴2 = −1 

32 − 2 = 𝐴3(3)(2(3) + 1) ⟹ 𝐴3 =
1

3
 

∴
𝑥2 − 2

2𝑥3 − 5𝑥2 − 3𝑥
=

2
3

𝑥
+

−1

2𝑥 + 1
+

1
3

𝑥 − 3
 

 𝑏     ∫
𝑥2 − 2

2𝑥3 − 5𝑥2 − 3𝑥
𝑑𝑥 = ∫

2
3

𝑥
+

−1

2𝑥 + 1
+

1
3

𝑥 − 3
𝑑𝑥     

=
2

3
∫

1

𝑥
𝑑𝑥 − ∫

1

2𝑥 + 1
𝑑𝑥 +

1

3
∫

1

𝑥 − 3
𝑑𝑥    

=
2

3
ln|𝑥| −

1

2
ln|2𝑥 + 1| +

1

3
ln|𝑥 − 3| + 𝐶 
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 8من  3الصفحة 
 

3

∫
4𝑥2 − 4𝑥 + 1

𝑥3 − 2𝑥2 + 𝑥
𝑑𝑥     ∶  

𝑥3 − 2𝑥2 + 𝑥 = 𝑥(𝑥2 − 2𝑥 + 1) = 𝑥(𝑥 − 1)2

∴
4𝑥2 − 4𝑥 + 1

𝑥3 − 2𝑥2 + 𝑥
=

4𝑥2 − 4𝑥 + 1

𝑥(𝑥 − 1)2
=

𝐴1

𝑥
+

𝐴2

𝑥 − 1
+

𝐴3

(𝑥 − 1)2
 

𝑥(𝑥 − 1)2 𝑥0 𝑥1

4𝑥2 − 4𝑥 + 1 = 𝐴1(𝑥 − 1)2 + 𝐴2𝑥(𝑥 − 1) + 𝐴3𝑥 

 

4(0)2 − 4(0) + 1 = 𝐴1(0 − 1)2 + 𝐴2(0)(0 − 1) + 𝐴3(0) ⟹ 𝐴1 = 1

4(1)2 − 4(1) + 1 = 𝐴1(1 − 1)2 + 𝐴2(1)(1 − 1) + 𝐴3(1) ⟹ 𝐴3 = 1 

𝐴1 = 1𝐴3 = 1𝑥2 

4(2)2 − 4(2) + 1 = (1)(2 − 1)2 + 𝐴2(2)(2 − 1) + (1)(2) ⟹ 𝐴2 = 3 

∴
4𝑥2 − 4𝑥 + 1

𝑥3 − 2𝑥2 + 𝑥
=

1

𝑥
+

3

𝑥 − 1
+

1

(𝑥 − 1)2
 

    ∫
4𝑥2 − 4𝑥 + 1

𝑥3 − 2𝑥2 + 𝑥
𝑑𝑥 = ∫ (

1

𝑥
+

3

𝑥 − 1
+

1

(𝑥 − 1)2
) 𝑑𝑥     

= ∫
1

𝑥
𝑑𝑥 + ∫

3

𝑥 − 1
𝑑𝑥 + ∫

1

(𝑥 − 1)2
𝑑𝑥    

= ln|𝑥| + 3 ln|𝑥 − 1| −
1

𝑥 − 1
+ 𝐶 
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 8من  4الصفحة 
 

4

∫
𝑥2 + 1

𝑥3 + 4𝑥2
𝑑𝑥     ∶  

𝑥3 + 4𝑥2 = 𝑥2(𝑥 + 4)

∴
𝑥2 + 1

𝑥3 + 4𝑥2
=

𝑥2 + 1

𝑥2(𝑥 + 4)
=

𝐴1

𝑥
+

𝐴2

𝑥2
+

𝐴3

(𝑥 + 4)
 

𝑥2(𝑥 + 4) 𝑥0 𝑥−4

𝑥2 + 1 = 𝐴1𝑥(𝑥 + 4) + 𝐴2(𝑥 + 4) + 𝐴3𝑥2 

 

(0)2 + 1 = 𝐴1(0)(0 + 4) + 𝐴2(0 + 4) + 𝐴3(0)2 ⟹ 𝐴2 =
1

4
 

(−4)2 + 1 = 𝐴1(−4)(−4 + 4) + 𝐴2(−4 + 4) + 𝐴3(−4)2 ⟹ 𝐴3 =
17

16
 

𝐴2 =
1

4
𝐴3 =

17

16
𝑥1 

(1)2 + 1 = 𝐴1(1)(1 + 4) +
1

4
(1 + 4) +

17

16
(1)2 ⟹ 𝐴1 =

−1

16
 

∴
𝑥2 + 1

𝑥3 + 4𝑥2
=

−1
16

𝑥
+

1
4

𝑥2
+

17
16

(𝑥 + 4)
 

      ∫
𝑥2 + 1

𝑥3 + 4𝑥2
𝑑𝑥 = ∫ (

−1
16

𝑥
+

1
4

𝑥2
+

17
16

(𝑥 + 4)
) 𝑑𝑥     

=
−1

16
∫

1

𝑥
𝑑𝑥 +

1

4
∫

1

𝑥2
𝑑𝑥 +

17

16
∫

1

(𝑥 + 4)
𝑑𝑥    

=
−1

16
ln|𝑥| −

1

4𝑥
+

17

16
ln|𝑥 + 4| + 𝐶 
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 8من  5الصفحة 
 

5

    ∫
𝑥2 − 3𝑥 + 7

𝑥2 − 4𝑥 + 4
 𝑑𝑥 

  a  ∫
𝑥2 − 3𝑥 + 7

𝑥2 − 4𝑥 + 4
 𝑑𝑥 = ∫

𝑥2 − 3𝑥 + 7

(𝑥 − 2)2
 𝑑𝑥 = ∫(𝑥2 − 3𝑥 + 7)(𝑥 − 2)−2 𝑑𝑥

 ∫ 𝑢𝑑𝑣 = 𝑢𝑣 − ∫ 𝑣𝑑𝑢                       𝑢 = 𝑥2 − 3𝑥 + 7                  𝑑𝑣 = (𝑥 − 2)−2𝑑𝑥 

                                                       𝑑𝑢 = (2𝑥 − 3)𝑑𝑥               𝑣 =
−1

𝑥 − 2

 

∫
𝑥2 − 3𝑥 + 7

𝑥2 − 4𝑥 + 4
 𝑑𝑥 = (𝑥2 − 3𝑥 + 7) (

−1

𝑥 − 2
) − ∫ (

−1

𝑥 − 2
) (2𝑥 − 3)𝑑𝑥             

= (
−(𝑥2 − 3𝑥 + 7)

𝑥 − 2
) + ∫ (

2𝑥 − 4

𝑥 − 2
+

1

𝑥 − 2
) 𝑑𝑥 

= (
−(𝑥2 − 3𝑥 + 7)

𝑥 − 2
) + ∫ 2𝑑𝑥 + ∫

1

𝑥 − 2
𝑑𝑥 

= (
−(𝑥2 − 3𝑥 + 7)

𝑥 − 2
) + 2𝑥 + ln|𝑥 − 2| + 𝐶 

  a  ∫
𝑥2 − 3𝑥 + 7

𝑥2 − 4𝑥 + 4
 𝑑𝑥 = ∫

𝑥2 − 4𝑥 + 4 + 𝑥 + 3

𝑥2 − 4𝑥 + 4
 𝑑𝑥 = ∫ (1 +

𝑥 + 3

𝑥2 − 4𝑥 + 4
)  𝑑𝑥

 = ∫ (1 +
𝑥 − 2 + 5

𝑥2 − 4𝑥 + 4
)  𝑑𝑥 = ∫ (1 +

𝑥 − 2

𝑥2 − 4𝑥 + 4
+

5

𝑥2 − 4𝑥 + 4
)  𝑑𝑥

= ∫ 1𝑑𝑥 + ∫
1

𝑥 − 2
𝑑𝑥 + 5 ∫

1

(𝑥 − 2)2
𝑑𝑥 

= 𝑥 + ln|𝑥 − 2| −
5

𝑥 − 2
+ 𝐶 
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𝑏    ∫
𝑥3 − 2𝑥2 − 4

𝑥3 − 2𝑥2
𝑑𝑥

∴

∴ 

1  

𝑥3 − 2𝑥2    𝑥3 − 2𝑥2 +    −4  

       𝑥3 − 2𝑥2  

                  −4  

𝑥3 − 2𝑥2 − 4

𝑥3 − 2𝑥2
= 1 −

4

𝑥3 − 2𝑥2
 

4

𝑥3 − 2𝑥2
=

4

𝑥2(𝑥 − 2)
=

𝐴1

𝑥
+

𝐴2

𝑥2
+

𝐴3

𝑥 − 2
 

 𝑥2(𝑥 − 2)

4 = 𝐴1𝑥(𝑥 − 2) + 𝐴2(𝑥 − 2) + 𝐴3(𝑥2) 

𝑥 0  

4 = 𝐴1(0)(0 − 2) + 𝐴2(0 − 2) + 𝐴3(02) ⟹ 𝐴2 = −2

𝑥 2 

4 = 𝐴1(2)(2 − 2) + 𝐴2(2 − 2) + 𝐴3(22) ⟹ 𝐴3 = 1 

𝐴2 = −2𝐴3 = 1 𝑥1

4 = 𝐴1(1)(1 − 2) + (−2)(1 − 2) + (1)(12) ⟹ 𝐴1 = −1 

       ∫
𝑥3 − 2𝑥2 − 4

𝑥3 − 2𝑥2
𝑑𝑥 = ∫ [1 − (

−1

𝑥
+

−2

𝑥2
+

1

𝑥 − 2
)] 𝑑𝑥 

= ∫ 1𝑑𝑥 + ∫
1

𝑥
𝑑𝑥 + ∫

2

𝑥2
𝑑𝑥 − ∫

1

𝑥 − 2
𝑑𝑥     

= 𝑥 + ln|𝑥| −
2

𝑥
− ln|𝑥 − 2| + 𝐶                       

 ــــ
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6

    ∫
𝑥3 − 7𝑥 + 9

𝑥2 − 3𝑥 + 2
𝑑𝑥  ∶  

∴<

∴ 

         𝑥 + 3  

𝑥2 − 3𝑥 + 2       𝑥3 +         −7𝑥 + 9  

                        𝑥3 − 3𝑥2 + 2𝑥  

                  3𝑥2 − 9𝑥 + 9  

                        3𝑥2 − 9𝑥 + 6 

3                                                                 

𝑥3 − 7𝑥 + 9

𝑥2 − 3𝑥 + 2
= (𝑥 + 3) +

3

𝑥2 − 3𝑥 + 2
 

3

𝑥2 − 3𝑥 + 2
=

3

(𝑥 − 2)(𝑥 − 1)
=

𝐴1

𝑥 − 2
+

𝐴2

𝑥 − 1

 (𝑥 − 2)(𝑥 − 1)

3 = 𝐴1(𝑥 − 1) + 𝐴2(𝑥 − 2)

𝑥 2  

3 = 𝐴1(2 − 1) + 𝐴2(2 − 2) ⟹ 𝐴1 = 3

𝑥 1 

3 = 𝐴1(1 − 1) + 𝐴2(1 − 2) ⟹ 𝐴2 = −3 

3

𝑥2 − 3𝑥 + 2
=

3

𝑥 − 2
+

−3

𝑥 − 1
 

       ∫
𝑥3 − 7𝑥 + 9

𝑥2 − 3𝑥 + 2
𝑑𝑥 = ∫ [(𝑥 + 3) − (

3

𝑥 − 2
+

−3

𝑥 − 1
)] 𝑑𝑥 

= ∫(𝑥 + 3)𝑑𝑥 + 3 ∫
1

𝑥 − 2
𝑑𝑥 − 3 ∫

1

𝑥 − 1
𝑑𝑥   

=
𝑥2

2
+ 3𝑥 + 3 ln|𝑥 − 2| − 3 ln|𝑥 − 1| + 𝐶                       

 ــــ

 ــــ
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  ∫
2𝑥4 + 3𝑥2 − 7

𝑥3 − 6𝑥2 + 9𝑥
𝑑𝑥          ∶ ∶  (7)      

∴<∴ 

         2𝑥 + 12  

      𝑥3 − 6𝑥2 + 9𝑥       2𝑥4 +           +3𝑥2 +         −7 

    2𝑥4 − 12𝑥3 + 18𝑥2  

                  12𝑥3 − 15𝑥2 +        −7  

12𝑥3 − 72𝑥2 + 180𝑥

57𝑥2 − 108𝑥 − 7                                         

∴
2𝑥4 + 3𝑥2 − 7

𝑥3 − 6𝑥2 + 9𝑥
= (2𝑥 + 12) +

57𝑥2 − 108𝑥 − 7

𝑥3 − 6𝑥2 + 9𝑥
 

57𝑥2 − 108𝑥 − 7

𝑥3 − 6𝑥2 + 9𝑥
=

57𝑥2 − 108𝑥 − 7

𝑥(𝑥 − 3)2
=

𝐴1

𝑥
+

𝐴2

𝑥 − 3
+

𝐴3

(𝑥 − 3)2

 𝑥(𝑥 − 3)2

57𝑥2 − 108𝑥 − 7 = 𝐴1(𝑥 − 3)2 + 𝐴2𝑥(𝑥 − 3) + 𝐴3𝑥

𝑥                        0   −7 = 9𝐴1 ⟹ 𝐴1 =
−7

9

𝑥                          3182 = 3𝐴3 ⟹ 𝐴3 =
182

3
 

𝐴1 =
−7

9
𝐴3 =

182

3
𝑥 = 1𝐴2 =

520

9

57𝑥2 − 108𝑥 − 7

𝑥3 − 6𝑥2 + 9𝑥
=

−7
9
𝑥

+

520
9

𝑥 − 3
+

182
3

(𝑥 − 3)2
 

       ∫
2𝑥4 + 3𝑥2 − 7

𝑥3 − 6𝑥2 + 9𝑥
𝑑𝑥 = ∫ [(2𝑥 + 12) − (

−7
9
𝑥

+

520
9

𝑥 − 3
+

182
3

(𝑥 − 3)2
)] 𝑑𝑥 

= ∫(2𝑥 + 12)𝑑𝑥 −
7

9
∫

1

𝑥
𝑑𝑥 +

520

9
∫

1

𝑥 − 3
𝑑𝑥 +

182

3
∫

1

(𝑥 − 3)2
𝑑𝑥   

= 𝑥2 + 12𝑥 −
7

9
ln|𝑥| +

520

9
ln|𝑥 − 3| −

182

3(𝑥 − 3)
+ 𝐶                       

 

 ــــ

 ــــ
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1

∫ (𝑥3 − 2𝑥2 + 2)𝑑𝑥
7

2

          ∫ (𝑥3 − 2𝑥2 + 2)𝑑𝑥
7

2

= [
1

4
𝑥4 −

2

3
𝑥3 + 2𝑥]

  = (
1

4
(7)4 −

2

3
(7)3 + 2(7)) − (

1

4
(2)4 −

2

3
(2)3 + 2(2)) =

4595

12

2

a           ∫ (
1

2
sin 2𝑥 − 𝑐𝑠𝑐2𝑥) 𝑑𝑥

𝜋
2

𝜋
4

          ∫ (
1

2
sin 2𝑥 − 𝑐𝑠𝑐2𝑥) 𝑑𝑥

𝜋
2

𝜋
4

= [−
1

4
cos 2𝑥 − (− cot 𝑥)]

  = (−
1

4
cos 2 (

𝜋

2
) − (− cot

𝜋

2
)) − (−

1

4
cos 2 (

𝜋

4
) − (− cot

𝜋

4
))

= (−
1

4
(−1) + 0) − (−

1

4
(0) + 1) = −

3

4

     b      ∫ 5𝑑𝑥
−3

2

= [5𝑥]−3
2

= 5(−3 − 2) = −25

     𝑐      ∫ (−2𝑥3 + 𝑥2)𝑑𝑥
3

3

= 0

7 

2 

𝜋

2
 

𝜋

4
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     d      ∫
𝑑𝑥

𝑥 − 1

4

2

= [ln|𝑥 − 1| ]  = ln|4 − 1| − ln|2 − 1| = ln 3 − 0 = ln 3

3

    a     ∫ |2𝑥 − 4|𝑑𝑥
4

−3

= ∫ |2𝑥 − 4|𝑑𝑥
2

−3

+ ∫ |2𝑥 − 4|𝑑𝑥
4

2

= ∫ −(2𝑥 − 4)𝑑𝑥
2

−3

+ ∫ (2𝑥 − 4)𝑑𝑥
4

2

 

= ∫ (4 − 2𝑥)𝑑𝑥
2

−3

+ ∫ (2𝑥 − 4)𝑑𝑥
4

2

 

= [4𝑥 − 𝑥2]   +  [𝑥2 − 4𝑥]

= [(8 − 4) − (−12 − 9)] + [(16 − 16) − (4 − 8)] = 29  

 

                b    ∫ |𝑥 + 2|𝑑𝑥
3

1

 = ∫ (𝑥 + 2)𝑑𝑥
3

1

= [
1

2
𝑥2 + 2𝑥]

     = (
1

2
(3)2 + 2(3)) − (

1

2
(1)2 + 2(1)) = 8

4

    ∫ (𝑥2 + 𝑥)𝑑𝑥
0

−1

≤ 0

 

                     𝑓(𝑥) = 𝑥2 + 𝑥 

        𝑥2 + 𝑥 = 0 ⟹ 𝑥(𝑥 + 1) = 0 ⟹ 𝑥 = 0 , 𝑥 = −1         −∞      +              −               +          ∞

            ∴ 𝑓(𝑥) ≤ 0         ,   ∀ 𝑥 ∈ [−1,0]                                                  

 ∴ 𝑥2 + 𝑥 ≤ 0     ,   ∀ 𝑥 ∈ [−1,0]                        ∴  ∫ (𝑥2 + 𝑥)𝑑𝑥
0

−1

≤ 0   

4 

2 

   2 

−3 

4 

2 

3 

1 

−1 0 

−∞         − (𝑥 + 2)               (𝑥 + 2)              ∞ 

−2 
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5

    ∫ (𝑥2 + 1)𝑑𝑥
2

−1

≥ ∫ (𝑥 − 1)𝑑𝑥
2

−1

 

𝑓(𝑥) = 𝑥2 + 1          ,        𝑔(𝑥) = 𝑥 − 1

𝑓(𝑥) − 𝑔(𝑥) = (𝑥2 + 1) − (𝑥 − 1) = 𝑥2 + 1 − 𝑥 + 1 = 𝑥2 − 𝑥 + 2

                                           𝑥2 − 𝑥 + 2 = 0       

∆= 𝑏2 − 4𝑎𝑐 = (−1)2 − 4(1)(2) = −7 < 0 

∴⟸𝑓(𝑥) − 𝑔(𝑥)

𝑓(𝑥) − 𝑔(𝑥) ≥ 0         ,   ∀ 𝑥 ∈ ℝ 

∴ 𝑓(𝑥) − 𝑔(𝑥) ≥ 0         ,   ∀ 𝑥 ∈ [−1,2] 

 ∴ (𝑥2 + 1) − (𝑥 − 1) ≥ 0     ,   ∀ 𝑥 ∈ [−1,2]  ⟹  (𝑥2 + 1) ≥ (𝑥 − 1) 

∴ ∫ (𝑥2 + 1)𝑑𝑥
2

−1

≥ ∫ (𝑥 − 1)𝑑𝑥
2

−1

  ∫ (2 − 2𝑥)𝑑𝑥
5

1

  ∶   (6)   

𝑓(𝑥) = 2 − 2𝑥      

𝑓(1) = 2 − 2(1) = 0          

, 𝑓(5) = 2 − 2(5) = −8      

∴ 𝑓(𝑥) ≤ 0  ∀ 𝑥 ∈ [1,5]       

  ∴ ∫ (2 − 2𝑥)𝑑𝑥
5

1

= −𝐴          

= −
1

2
(4)(8) = −16     

𝐴 
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7

    a    ∫ √25 − 𝑥2
5

−5

 𝑑𝑥 

𝑦 = √25 − 𝑥2

∴ 𝑦2 = 25 − 𝑥2 

∴ 𝑦2 + 𝑥2 = 25

5 

𝑦 = √25 − 𝑥2

∴ ∫ √25 − 𝑥2
5

−5

 𝑑𝑥 = 𝐴 =
1

2
𝜋𝑟2 =

1

2
𝜋(5)2 =

25

2
𝜋

    b    ∫ −√16 − 𝑥2
4

0

 𝑑𝑥

𝑦 = −√16 − 𝑥2

∴ 𝑦2 = 16 − 𝑥2 

∴ 𝑦2 + 𝑥2 = 16

4 

𝑦 = −√16 − 𝑥2

∴ ∫ −√16 − 𝑥2
4

0

 𝑑𝑥 = −𝐴 = −
1

4
𝜋𝑟2 = −

1

4
𝜋(4)2 = −4𝜋

𝐴 

𝐴 
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8a 8

∫ tan 𝑥

𝜋
4

0

 𝑠𝑒𝑐2𝑥 𝑑𝑥 

𝑓(𝑥) = tan 𝑥 ⟹ 𝑓′(𝑥) = 𝑠𝑒𝑐2𝑥 

∫ 𝑓(𝑥)

𝜋
4

0

 𝑓′(𝑥)𝑑𝑥 = [
1

2
(𝑓(𝑥))

2
] = [

1

2
(tan 𝑥)2]

=
1

2
[(tan

𝜋

4
)

2

− (tan 0)2] =
1

2
(1 − 0) =

1

2
 

 ∫ sin 2𝑥

𝜋
3

𝜋
6

cos 2𝑥 𝑑𝑥    ∶        b     

𝑢 = sin 2𝑥  ⟹ 𝑑𝑢 = 2 cos 2𝑥 𝑑𝑥 ⟹ cos 2𝑥 𝑑𝑥 =
1

2
𝑑𝑢 

𝑥 =
𝜋

6
𝑢 =

√3

2
𝑥 =

𝜋

3
𝑢 =

√3

2

∫ sin 2𝑥

𝜋
3

𝜋
6

cos 2𝑥 𝑑𝑥 = ∫ 𝑢.
1

2
𝑑𝑢

√3
2

√3
2

= 0 

𝑓(𝑥) = sin 2𝑥  ⟹ 𝑓′(𝑥) = 2 cos 2𝑥

∫ sin 2𝑥

𝜋
3

𝜋
6

cos 2𝑥 𝑑𝑥 = ∫ 𝑓(𝑥).
1

2
𝑓′(𝑥)

𝜋
3

𝜋
6

𝑑𝑥 =
1

4
[(𝑓(𝑥))

2
]

=
1

4
[(sin 2𝑥)2]  =

1

4
[(sin

2𝜋

3
)

2

− (sin
𝜋

3
)

2

] = 0  

sin 2𝑥 . 𝑐𝑜𝑠2𝑥 =
1

2
sin 4𝑥

∫ sin 2𝑥

𝜋
3

𝜋
6

cos 2𝑥 𝑑𝑥 = ∫
1

2
sin 4𝑥

𝜋
3

𝜋
6

𝑑𝑥 = [−
1

8
cos 4𝑥]  = 0 

      
𝜋

4
 

0 

      
𝜋

4
 

0 

      
𝜋

3
 

     
π

6
 

      
𝜋

3
 

     
π

6
 

      
𝜋

3
 

     
π

6
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9

    a    ∫ ((𝑥 + 1)√𝑥2 + 2𝑥 + 5) 𝑑𝑥
1

−1

𝑢 = 𝑥2 + 2𝑥 + 5 ⟹ 𝑑𝑢 = (2𝑥 + 2)𝑑𝑥 ⟹ (𝑥 + 1)𝑑𝑥 =
1

2
𝑑𝑢 

𝑥 = −1𝑢 = 4𝑥 = 1𝑢 = 8

∫ ((𝑥 + 1)√𝑥2 + 2𝑥 + 5) 𝑑𝑥
1

−1

=
1

2
∫ 𝑢

1
2

8

4

𝑑𝑢

=
1

2
×

2

3
[𝑢

3
2]   =

1

3
[8

3
2 − 4

3
2] = 4.8758   

    b    ∫ 𝑥√𝑥 − 1𝑑𝑥
5

2

∫ 𝑥√𝑥 − 1
5

2

𝑑𝑥 = ∫ ((𝑥 − 1) + 1)(𝑥 − 1)
1
2𝑑𝑥

5

2

= ∫ (𝑥 − 1)
3
2

5

2

𝑑𝑥 + ∫ (𝑥 − 1)
1
2

5

2

𝑑𝑥 

=
2

5
[(𝑥 − 1)

5
2]   +

2

3
[(𝑥 − 1)

3
2]

=
2

5
[(4)

5
2 − (1)

5
2]   +

2

3
[(4)

3
2 − (1)

3
2] =

256

15

𝑢 = 𝑥                          𝑑𝑣 = √𝑥 − 1 = (𝑥 − 1)
1

2 

                          𝑑𝑢 = 𝑑𝑥                              𝑣 =
2

3
(𝑥 − 1)

3
2

∫ 𝑢 𝑑𝑣 = 𝑢. 𝑣 − ∫ 𝑣 𝑑𝑢
5

2

5

2

 

 8 

 4 

 5 

 2 

 5 

 2 
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10

  ∫ 𝑥 sec2 𝑥 𝑑𝑥

𝜋
4

0

       ∶

∫ 𝑢 𝑑𝑣

𝜋
4

0

= 𝑢. 𝑣 − ∫ 𝑣

𝜋
4

0

𝑑𝑢                                                   𝑢 = 𝑥                     𝑑𝑣 = 𝑠𝑒𝑐2 𝑥 𝑑𝑥 

∫ 𝑥𝑠𝑒𝑐2 𝑥 𝑑𝑥

𝜋
4

0

= [𝑥 𝑡𝑎𝑛 𝑥] − ∫ tan 𝑥  𝑑𝑥

𝜋
4

0

                   𝑑𝑢 = 𝑑𝑥                  𝑣 = tan 𝑥

= [
𝜋

4
tan

𝜋

4
− 0] − ∫

sin 𝑥

cos 𝑥
 𝑑𝑥

𝜋
4

0

=
𝜋

4
+ ∫

−sin 𝑥

cos 𝑥
 𝑑𝑥

𝜋
4

0

           

=
𝜋

4
+ [ln|cos 𝑥|]  =  

𝜋

4
+ (ln |cos

𝜋

4
| − ln |cos

𝜋

4
|) =

𝜋

4
+ ln

1

√2
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  ∫
3𝑥2 − 17

𝑥2 − 𝑥 − 6
𝑑𝑥

7

4

       ∶

3𝑥2 − 17

𝑥2 − 𝑥 − 6
= 3 +

3𝑥 + 1

𝑥2 − 𝑥 − 6
                                                𝑥2 − 𝑥 − 6        3𝑥2            − 17  

3𝑥 + 1

𝑥2 − 𝑥 − 6
=

3𝑥 + 1

(𝑥 − 3)(𝑥 + 2)
=

𝐴

𝑥 − 3
+

𝐵

𝑥 + 2
                                             3𝑥2 − 3𝑥 − 18

3𝑥 + 1 = 𝐴(𝑥 + 2) + 𝐵(𝑥 − 3)                                                                                     3𝑥 + 1

𝑥 = 3 ⟹ 𝐴 = 2       ,     𝑥 = −2 ⟹ 𝐵 = 1 

3𝑥 + 1

𝑥2 − 𝑥 − 6
=

2

𝑥 − 3
+

1

𝑥 + 2
 

∫
3𝑥2 − 17

𝑥2 − 𝑥 − 6

7

4

𝑑𝑥 = ∫ 3
7

4

𝑑𝑥 + ∫
2

𝑥 − 3

7

4

𝑑𝑥 + ∫
1

𝑥 + 2

7

4

𝑑𝑥 

                                = [3𝑥] + 2[ln|𝑥 − 3|]  + [ln|𝑥 + 2|] 

                               = 3(7 − 4) + 2[ln 4 − ln 1] + [ln 9 − ln 6] = 12.178

 
𝜋

4
 

 0 

 
𝜋

4
 

 0 
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− 

7 

4  

 

7 

4  
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